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1.  If a place is located at 20 

A. Africa B. Asia 

C. Europe D. America 

Answer & Explanation 

Answer: Option B 

 

 

2.  Days and nights are equal throughout the globe when the sun is above: 

A. Poles B. Equator 

C. Tropic of Cancer D. Tropic of Capricorn 

Answer & Explanation 

Answer: Option B 

 

 

3.  Latitude of South Pole is: 

A. 0 B. 40 

C. 60 D. 90 

Answer & Explanation 

Answer: Option D 

 

 

4.  Which of the following latitude forms a great circle 

A. 0 B. 23.5 

C. 66.5 D. 90 

Answer & Explanation 

Answer: Option A 

 

 

5.  The latitude of a place expresses its angular position relative to the plane of: 

A. Equator B. Axis of the earth 

C. Arctic circle D. Aropic of Capricorn 

Answer & Explanation 

Answer: Option A 

 

 

6.  Which of the following is the farthest from the centre of the earth? 

A. South Pole B. Equator 

C. Antarctic circle D. Tropic of Capricorn 
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Answer & Explanation 

Answer: Option B 

 

 

7.  If the difference in time between two places were 2 hours and 20 minutes, then 

the difference in their longitude would be: 

A. 30 B. 35 

C. 45 D. 50 

Answer & Explanation 

Answer: Option B 

 

 

8.  When ship crosses Date-line from west to east: 

A. It loses one day B. It gains one day 

C. It loses half day D. It gains half day 

Answer & Explanation 

Answer: Option A 

 

 

9.  The International Date-line passes through the: 

A. Bering Strait B. Florida Strait 

C. Gibraltar Strait D. Malacca Strait 

Answer & Explanation 

Answer: Option B 

 

 

10.  Sense of time is due to: 

A. Rotation of earth B. Revolution of earth 

C. Rotation of moon D. Both (a) and (b) 

Answer & Explanation 

Answer: Option A 

Explanation: 
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